Trig Identities & Equations June 2005

Leave\
blank
1. (a) Given that sin?0 + cos’0 = 1, show that 1 + tan’0 = sec?0.
2
(b) Solve, for 0 < 6 < 360°, the equation
2 tan’0 + secO =1,
giving your answers to 1 decimal place.
(6)
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Question Scheme Marks
Number
. in>@ cos’ @ 1
1. Dividing by cos?0: > =
@ £ cos’@ cos’d cos’d Ml
Completion: 1 +tan’@ =sec> @ (no errors seen) Al
(2)
(b) Useof 1+ tan’@ =sec’@: 2(sec*@ —1) +sectd =1 Ml
[ 2sec’ @ +secd —3=0]
iy - Ml
Factorising or solving: (2sec@+ 3)(secd —1) =0
[secld = — 2 or sech = 1]
2
=0 B1
cosf@=—2; 6 =1318° MI Al
3
6, = 2282° AN
(6)

[Alft for 6, = 360°— 6,]

(8]




